Chemistry 40S Equations


	1 mol = 6. 022 x 1023
	1 mol gas @ STP = 22.4 L

	M = mol solute/ L of solution
	14 = pH + pOH

	pH = – log [H+]
	[H+] = 10–pH

	pOH = [OH–]
	[OH–] = 10–pOH

	Rate Law

For the equation,  aA + bB ( cC
Rate = k [A]x[B]y where the values of x and y can only be determined experimentally
	Equilibrium Constant

For the equation,  aA + bB (( cC

At equilibrium, Keq =
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	Rule of 100
If 
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 then any x terms, including their coefficients, added to or subtracted from equilibrium concentrations can be cancelled resulting in a less than 5% error.
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	Q = It
	1 F = 96,500 C/mol e–
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